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Green: v11—01b—Run0 (2013);

Blue: v11—01d—Run1 (2013)
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Red: v10—01—public—=Run0 (2013); Green: v11-01b—Run0 (2013); Blue: v11-01d—Run1 (2013)
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Red: v10—01—public—=Run0 (2013); Green: v11-01b—Run0 (2013); Blue: v11-01d—Run1 (2013)
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Green: v11—01b—Run0 (2013);

Blue: v11—01d—Run1 (2013)
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Red: v10—01—public—=Run0 (2013); Green: v11-01b—Run0 (2013); Blue: v11-01d—Run1 (2013)

Jan Feb Mar
3t R: 0.56 0.54 i st R: 0.60 0.56 i st R: -0.02 -0.02 ]
slope: 2.1 2, slope: 1.9 2, slope: —0.04 -0.04
<
2F o oo /s 1 2F 55 1 2t — 1
oL ¢
1F 1 v/ i 1} ;
Py L
0 L L L 0 L L L 0 L L .
0 1 2 3 0 1 2 3 0 1 2 3
z__.|_ May Jun Jul
MJ 3t R: -0.78 -0.78 { 3t R: 0.68 0.68 { st R: 0.94 0.94 3t R: 1,00 1.00 3
_W_ slope: —0.20 -0 slope: 1.09 1, slope: 0.52 0 slope: 0.53 0,
I 2 i 2 i 2f A o\ 2F \
el € /4 [
£
c 'F > {1 1t {1 1t i 1} 1
<
O
Q_u 0 . . . 0 . . . 0 . . . 0 . . .
m 0 1 2 3 0 1 2 3 0 1 2 3 0 1 2 3
& Sep Oct Nov Dec
3t R: 0.57 0.57 i st R: -1.00 -1.00 i st R: -0.14 -0.14 i st R: 0.58 0.58 ]
slope: 0.07 0, slope: —0.44 -0 slope: —0.30 -0 slope: 0.36 0,
2F {1 2F i 2} 1 2} 1
& o2
1F i 1 ) i 1 { 1} 1
0 . . . 0 . . . 0 . . . 0 . . .
0 1 2 3 0 1 2 3 0 1 2 3 0 1 2 3

IMPROVE NH4f [gm™]

mpayer output/Aerosol.scatter.IMPROVE.geos.v11-01d—Run1.ps, 12/09/2015 13:46



